vy . " -
MATHE . Multi-step inequalities
bel- b T

Inequality tasks:

1) 31(-28.83 —93.6p) > 25.4(80.9p + 72.9)

2) —88.43(38.6 — 63.1x) — 81.2 < 29.9(87.6x + 58.4)

3) n—0.2+49.8n—81.1 >-99.95(67n + 7.78) — 31.5(43.2 + 51.9n)

4) —95.5(m +3.2) + 38.7m < 99.7(-35.7m + 47.9)

5) —80(57.6r +44.4) — 61.1(65.4r + 77.4) < 58.9r — 87.08 + 22.1r

6) 67.4(x—83.4) >-3.8(17.8x — 37.56)

7) 28.9(b + 86.9) — 93.356 > 94.1b + 56.3(-92.15 + 46.5)
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8) 95.6(~70v - 63.1) = 54.04 — 41.7(14v - 94.2)

9) 7.9(60.37n - 90.7) > -72.3(-90.8n - 8.4)

10) -73.6 + 65.1(21.6 + 92.7x) > -88.584x + 42.2(5.8x — 44.1)

11) -46.44(a - 62.4) < -43.5(35.9a + 24.2)

12) 69.5(30.3 + 78.2x) > 53.6(37.1x + 47.6) + 57.1

13) 12.7(68.02k — 22.05) < -11.2(k - 74.012) — 1.7k

14) 92.6(98x — 39.8) - 79.7x = 34 + 45.5(-40.1x — 47.5)
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15) 82.7(-47.5p +34.7) - 8.6p < -11.6p — 39.6(p - 54.8)

16) -96.7 — 79.7(n + 69.6) > 80.9(n - 32.7) 17) -88.9m - 63.6(1 + 2.6m) > 66.4(m + 74.8)

18) -15.8(-57.2 - 77.681r) — 99.8(-91.78r + 51.9) < -54.2r — 35.93r

19) 58.9(52.9 + 12.8n) - 71.896(81.4 + 31.1n) > —77.091n + 59n

20) 5.5b — 99.9(-490 — 82.2) < -86.6(78.4b + 83.6) — 57.5b

21) -90 — 95.4(63.2 + 37.4x) < -84.4(x — 68.5) - 35.4

22) 4.23(v - 55.5) = -82.2(86v + 69.1)
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23) —77.7(-5.6x + 54.5) < -80 — 29.5(-89.1 — 13.4x)

24) —14.6(56n + 14.3) > —30.8n - 60.2(n - 25)

25) -48.4 - 81.509(9.7 - 45.5k) = 73.7(2.077 + 28.5k)

26) a-62.8+1+26a<-81.1(a+6.68) +20.21(1 - 63.2a)

27) -82.5(14x - 31.4) < 57.2(x - 68.5) 28) 42.7(n + 39) < -65(n + 71.8)

29) —73(x - 43.9) + 13.7(57.9x - 42.1) < 95.5x — 74.495x

30) 9.6(m + 100) > 99.3(21.5m — 97.306) — 84.8
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Inequality tasks:

1) 31(-28.83 —93.6p) > 25.4(80.9p + 72.9)
p <—0.553901373157

2) —88.43(38.6 — 63.1x) — 81.2 < 29.9(87.6x + 58.4)
x < 1.77011192988

3) n—0.2+49.8n—81.1 >-99.95(67n + 7.78) — 31.5(43.2 + 51.9n)
n >-0.245411283299

4) —95.5(m +3.2) + 38.7m < 99.7(-35.7m + 47.9)
m < 14507478965

5) —80(57.6r +44.4) — 61.1(65.4r + 77.4) < 58.9r — 87.08 + 22.1r
r>—-0.943479171992

6) 67.4(x—83.4) >-3.8(17.8x — 37.56)
x> 42.6828199052

7) 28.9(b + 86.9) — 93.30 > 94.1b + 56.3(-92.1b + 46.5)
b>0.0211946931703
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8) 95.6(~70v - 63.1) = 54.04 — 41.7(14v - 94.2)
v < -1.63952391867

9) 7.9(60.37n - 90.7) > -72.3(-90.8n - 8.4)
n < —0.217455329959

10) -73.6 + 65.1(21.6 + 92.7x) > —88.584x + 42.2(5.8x — 44.1)
x > —0.54325575129

11) -46.44(a - 62.4) < -43.5(35.9a + 24.2)
a< —2.60726631952

12) 69.5(30.3 + 78.2x) > 53.6(37.1x + 47.6) + 57.1
x > 0.145838773888

13) 12.7(68.02k — 22.05) < -11.2(k - 74.012) — 1.7k
k < 126485810159

14) 92.6(98x — 39.8) - 79.7x = 34 + 45.5(-40.1x — 47.5)
x > 0.144018521856

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
-2



15) 82.7(-47.5p +34.7) - 8.6p < -11.6p — 39.6(p - 54.8)

p > 0.180049669939
16) -96.7 — 79.7(n + 69.6) > 80.9(n - 32.7) 17) -88.9m - 63.6(1 + 2.6m) > 66.4(m + 74.8)
n < —18.6699252802 m< —15.6873947483

18) -15.8(-57.2 - 77.681r) — 99.8(-91.78r + 51.9) < -54.2r — 35.93r
r < 0.40811352433

19) 58.9(52.9 + 12.8n) - 71.896(81.4 + 31.1n) > —77.091n + 59n
n < —1.86926862349

20) 5.5b — 99.9(-49b - 82.2) < -86.6(78.4b + 83.6) — 57.5b
b < -1.31530005431

21) -90 - 95.4(63.2 + 37.4x) < -84.4(x - 68.5) — 35.4
X > —3.40607883889

22) 4.23(v - 55.5) = -82.2(86v + 69.1)
v > —0.769818178734
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23) —77.7(-5.6x + 54.5) < -80 — 29.5(-89.1 — 13.4x)
X < 170.344048217

24) —14.6(56n + 14.3) > —30.8n - 60.2(n - 25)
n < —2.35862923204

25) -48.4 - 81.509(9.7 - 45.5k) = 73.7(2.077 + 28.5k)
k > 0.6169048249

26) a-62.8+1+26a<-81.1(a+6.68) +20.21(1 - 63.2a)
a < -0.331851661503

27) -82.5(14x - 31.4) < 57.2(x - 68.5) 28) 42.7(n + 39) < -65(n + 71.8)
X > 5.36932849365 n < —58.7957288765

29) —73(x - 43.9) + 13.7(57.9x - 42.1) < 95.5x — 74.495x
X < —3.75834674103

30) 9.6(m + 100) > 99.3(21.5m - 97.306) — 84.8
m < 5.03789295881
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